3"X6" STEEL

PLATE FASTENED

TO CHIMNEY

I W/1/2°x6” TITEN

[ HD TO MASONRY

[ DRILLED &

EPOXIED INTO

EXISTING CMU

COURSE OF

CHIMINEY.

(2)1/2”x6”

LAG TO

(2)1/2” FRAM
THRU "BOLT

PROPOSED STEEL
L 3X3X1/4"

PROVIDE
BLOCKING AS
NEEDED FOR

CONNECTION TO
WALL

SBrace Deta

°

SCALE: 1/2" = 1'-0"

13" 3"X6"X3/8” PLATE
- 2.5
- O 1/4 V2.5
@NP mf/ 0.5625" HOLE
Lot WALL MOUNT
Elg |k - BRACKET

N
b (2)
|l 2 2.5"X2.5"x3/8”

STEEL PLATE \.

1/4 ﬂ/l
Mount Bracket Detal

Wall

- e
\ 3"X6"X3/8" PLATE/

SCALE: N.T.S.

Benmar Construction, LLC. BUILDING _
~
200 NE Z25th AVE. OCALA, FL 34470 PIAN ADDENDUM #1 =S
< ~
LICENSE NUMBER CGC1523581 A3
T SONNY'S LAKE CITY ™ 3/12/2021
/ / =
PERMIT et
ADDENDUM # PARCEL 1.D. # =l
35—35—16—-02573—000 S
ATTN: COLUMBIA COUNTY BUILDING DEPARTMENT PLANS 8 L
EXAMINER g %
PLEASE REVIEW THIS PLAN ADDENDUM FOR APPROVAL. THE —
FOLLOWING IS A DESCRIPTION OF ALTERATIONS TO THE 0%
ORIGINALLY SUBMITTED PLANS. NOTE TO CONTRACTOR: THIS g —
ADDENDUM MUST ACCOMPANY THE PLANS AND BE DISTRIBUTED
TO ALL SUBCONTRACTORS THAT IT APPLYS TO.
o
L
. sl |
3 S|+|g
G ==
< 0| 2|g
J'd >~ |o|E
o8 R
B o9
O o | o
—1” ON 127 2 5 ©
o & =1 -
ROOF SLOPE  _, _1. + S
155 g < Nz
” 2’ 7—” 4’ 6” 4’ 4” 1’ 4” Lo) E m| E‘
81212 - - - =
— == —= —e 1/2" TIE-MAX @ 48” 0.C. & C e 2|3 |°
% 12” FROM CORNERS TYP. - gg 3 T
WITH 5/8" POWER—STUD+SD1 = Ny .. 2
(2) 2x6 CLEAT UNDER EXPANSIONS ANCHORS @ 48" H 59 Blm|2
VALLEY FRAMING ANCHOR z OC. INTO EXISTING BOND H 29 — a3
TO EACH TRUSS BELOW \ : BEAM O MM AO | a
WITH 3/8” X 4" LAG ™ ///
BOLTS. FASTEN TO EACH f
RAFTER W/ SIMPSON ' PROPOSED 5V CRIMP_PANEL ON WATERPROOFING MEMBRANE ON 1/2" CDX SHEATHING
A34 EACH SIDE OF / PROP. 2X8 RAFTERS @ 16” 0.C.
" ATTACH TO CLEAT W/ (2)
. . RAFTER W/ (8) /// 15/32” CDX PLYWOOD WALL 12 SIMPSON A34 CONNECTORS
SEE "BRACE DTL. 0.131X1=1/2" NAILS / < " SHEATHING NAILED |
oo amoRE 2 X 8 BLOCKING W/#8D@3” 0.C. AROUND i S e VALEY TRAMNG, ACHOR 10 EACHH a2
@ 6 0O.C. PERIMETER @ LEDGER AND E— . TRUSS BELOW WITH 3/8” X 4" LAG_| Z\
FROPOSED PROPOSED 2°X8" — 6” 0.C. @ OTHER EDGES G P
PARAPET SUPPORT RAFTERS @ 16" 0.C : 'AND FIELD S ﬁq
LOCATIONS . — SIMPSON A34 EAC”H SIDE W/
(TyP.) L// (8) 0.131X1-1/2" NALS ~— ﬁ"
= (2) 3/8" X 6 LAG CYD
2”X6” LEDGER FOR Ny / SCREW @ END .
DECKING } 1/2" THREADED ROD  wesmon o Svb
ATTACHMENT \ / W/ 2" WASHER ©  sTupe  1e- be. | 4
[T 1 T 1 / oroe SROPOSED M | =~
Lz 7 o 7 = PARAPET m
278" T WALL B
Z RAFTER TO - S
o 8” i6: - 4’_0” | 4’_0” - 4’_0” | 4’_0” | 4’_0” | ’_O o 8” - » ” KNEE WALL s w QH
/ / & W/(zD)BLs/ZS’)’“)? GEEBS(E RBOLTS W/ 3/8" X T |E—MA1></2@ - O -E)
oo N 306, ! > —
MAX LUMBER LENGTH 15/32" 0SB APA EXP 1 SHEATHING A SCREW @ 4] /48 0.C. C: ) -
W/8D NAILS @ 6" 0.C. EDGES & N 167 0.C. P ~ O =
- 268" / FIELD & 3” O.C. @ LEDGER < - g O )
(1) 2"X8” LEDGER ATTACHED 10/ DBL 2'X10” LEDGER ATTACHED TO PROPOSED / ] EXISTING A 2X O | — =)
PROPOSED WALL W/ (2) 3/87X6” DIA. WALL W/ (2) 3/8°X6" DIA. LAG BOLTS W/ 1" 2"x8” RAFTERS @ 16" O.C. DECKING VA BLOCKING o
LAG BOLTS W/ 1" WASHERS @ EACH WASHERS COUNTERSINK INTO LEDGER @ EACH V @ 6’ 0.C. (/ 2 - o= Z
VERT. STUD LOCATION VERT. STUD LOCATION ' @) 'Q Eﬂ
SIMPSON  DTT1Z W/(6) 10D X 1.5” TO (o)) Q
RAFTER AND 3/8” THRU—BOLT TO >\ E Q
T LEDGER -+ > - <
RAFTER 15/32" 0SB ROOF SHEATHING SIMPSON LUC267 (6)16DX3.5” EXISTING TRUSS CHORD .— - —
@ 16 W/8D @ 3" 0.C. SD INTO LEDGER & (4)10DX1.5” @) '®)
ooy OI.C. INTO RAFTER TYP. (2) #10 SCREWS T O
.;\.L BLOCKING <~ i 2 % 6 TURNED FLAT OR 16D NAILS
= e oL L “SSDBL. 2°X8” LEDGER O 0p)
) REAR PROFILE VIEW =
2X6” W/(4)10D INTO BOTTOM OF (U
LEDGER @ EACH RAFTER AND @ ] | g
6” 0.C. INTO BLOCKING SCALE: 1/4” = 1'=0"
| Roof Frami ~
OO rd g >~
—
PROPOSED FACTORY BAKED FINISH ON 26GA ALUMINUM ap)
O n CAP FLASHING (BLACK COLOR)
T PROPOSED 2X6 P.T. NAILER
SCALE: 1/4" = 1'-0” PROPOSED CONT. TRL 2"X6" TOP
PLATE
1/2 TIE-MAX ® 4'~0" 0.C. MAX. 12" FROM CORNERS PROPOSED 2°X8" RAFTERS
NOTE: COUNTER SINK TIEMAX ROD TYP. W/ 3X3X1/4" PLATE WASHER COUNTERSINK INTO TOP PLATE @ 16" O.C.
_— T PROPOSED 2 X 6 VERTICAL #2 SYP STUDS @ 16" O.C. FLASHING
N L BT ¢ N~
N\ 0.C. EDGES AND 12" 0.C. FIELD DRIP EDGE .
T e R W 7 AN  co | e Dl T
A Q00000 0 1 I T LT e CALIBER DESIGN
[ (o i it <4r- o i 7 I PROPOSED NICHIHA 3030MM ARCHITECTURAL |l ¥ Sl & ENGINEERING LLC
- ~1 WALL PANELS (AWP—3030) HORIZONTAL. | —— PROPOSED 2 X & VERTICAL
t :L,'r'r///:r t ! t t ~~_| INSTALL PER MANUFACTURER'S SPECIFICATIONS. I I - #2 SYP STUDS @ 16" 0.C. 303 S.W. 8TH STREET

I T~

\(2) 2X6 BLOCKING AT TIE ROD LOCATION FOR

PROPOSED ALUM. COVERED CANOPY. ATTACH W/
(3) 16D NAILS AND SIMPSON H2.5A MOUNTED
LATERALLY @ EACH STUD.

1/2" TE-MAX @ 48" 0.C. & 12" FROM CORNERS
TYP. W/3"X3"X1/4" WASHERS @ SOLE AND TOP

PLATE WITH 5/8" POWER—STUD+SD1 EXPANSIONS

] ] L] L] L] L] L]

NOTE: 1ST EXISTING GABLE END TRUSS TO BE
REMOVED FOR PARAPET WALL CONSTRUCTION

o

EXISTING CMU WALL

PROPOSED WALL TO BE FASTENED TO
EXISTING ROOF W/ 2X6 LEDGER FASTENED
W/ (2) 3/8" X 6" LAG SCREWS AND
\ 15/32" ROOF SHEATHING W/ BLOCKING

TO EXISTING TRUSSES NAILED W/ 8D @
3" 0.C.

ANCHORS @ 48" 0OC. INTO EXISTING BOND BEAM

NOTE: WHERE TIE-MAX ANCHOR LOCATIONS EXCEEDS
3'—0" INSTALL 5/8" POWER—STUD+SD1 EXPANSION
ANCHOR (MIN. 5" EMBED)

PROVIDE 1/2” HAT CHANNELS @ 16" VERTICALLY

2"X 8" P.T. FURRING STRIPS @ 16” 0.C.
ATTACH TO MASONRY WALL WITH 1/4"X2
3/4” TAPCONS OR EQUAL @ 18" 0.C.
EMBEDDED INTO MASONRY BLOCK FACE
NO LESS THAN 1 1/4”

EXISTING CMU WALL

EXISTING FOOTING

PARAPET PROFILE VIEW

SCALE: 1/4” = 1'-0"

15/32” WALL SHEATHING

W/(2) LAYERS OF #15 FELT

—————— 1/2” THREADED ROD @
4'-0" 0.C.

[ ALUMINUM CONT. FASCIA
FLASHING

/ FLASHING

ROOF DECK SHALL BE 15/32" OSB AND COVERED —

WITH AN APPROVED SELF—ADHERING POLYMER
MODIFIED BITUMEN SHEET MEETING ASTM D 1970
OR AN APPROVED SELF ADHERING SYNTHETIC
UNDERLAYMENT INSTALLED IN ACCORDANCE WITH
THE MANUFACTURER’S INSTALLATION INSTRUCTION.
INSTALL METAL ROOFING TO MATCH EXISTING

UNIT 2
OCALA, FL 34471
(352) 789-6298

REGISTRATION NO. 33188

\\\|||’II
\\\\N\ GAR T/VI"/

S OARTY, 2,
SERGNGE

{ No. 70731
*

/
Digitally signeg éy'J!)P!n‘M. Gartner Jr.
DN: c=US, st=Florida, I=Ocala, o=Caliber
Design & Engineering LLC, cn=John M.
Gartner Jr., email=mike@caliberde.com
Date: 2021.03.12 17:43:44 -05'00'

[ENGINEER’S SEAL APPLIES TO STRUCTURAL COMPONENTS ONLY.

JOHN M. GARTNER JR., PE
FLORIDA LICENSE NO. 70731

THIS ITEM HAS BEEN DIGITALLY SIGNED AND
SEALED BY JOHN M. GARTNER JR., P.E. ON
THE DATE ADJACENT TO THE SEAL.

UNLESS PHYSICALLY SIGNED AND SEALED,
PRINTED COPIES OF THIS DOCUMENT ARE
NOT CONSIDERED SIGNED AND SEALED AND
THE SIGNATURE MUST BE VERIFIED ON ANY
ELECTRONIC COPIES.

SHEET NO.

1 of 1




		2021-03-12T17:43:44-0500
	John M. Gartner Jr.




